114884

E IS E DT A 4 e iy

& o
% i
BLOH:
H 8
i %K

F R

ERVAD AN

55
TR TR 2 2
TrREBEE
0210

5 3 i

leﬁ e

n}%ﬁ/\ %ﬁ(—ﬁ)ﬁf%ﬁ EA
S EARE - » NTFEr
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1. Solve y""—y"—8y'+12y=7e* . (10%)

2. A surface is given explicitly in the problem. Compute |, F-ds, where C is the curve in
which the cone z>=x>+y? intersects the plane z=1. The vector field is given by
F=(-y/2, x/ﬁZ, z). (Oriented counter clockwise viewed from positive z-axis). (10%)

3. Find the eigenvalues and eigenvectors for the matrix. (10%)
5 —-10 -5
A= l 2 14 2 ]
-4 -8 6
4. Consider a system of ODE
{yl (0 = —3y1() +y2(v)
y2'(t)'= y1(t) — 3y2(0)
Find the eigenvalues and eigenvectors of this system. Determine the fundamental matrix

w(t)and its inverse w™(t). (10%) |

5.Use Green’s Theorem to evaluate J. yx2dx — x2dy where C is shown below. (10%)

- (0,5)

Left Half of
x24+y?=25
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6.(a)Find the inverse Laplace transform >

(s2+4)2 ° (5%0)

(b)Find the inverse Laplace transform tan™? % (fors = 0). (5%)

7.Find the co;nplex Fourier integral of f(x) = x exp(—|x]). (10%)

8.Find the Fourier transform 23 . (10%)
t2-2t+5
9284+ %% =0 u(x,0) = 0,u(0,t) = 4t. (10%)

10.Find §{z* + 22z° + Im(2)}dz ,where C is the square with vertices at 0, -2i, 2-21, 2.(10%)




